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P - FAMHRER SURHRER =
S SRR ER b Bt wrn |EEREM) cs Bcs ‘Be(B%)
R2/4/8 R2/6/24 12959.1 ND ND 1.9 + 0.05
. R2/7/6 R2/9/30 12959.1 ND ND 21 + 005
deimE LR
R2/10/7 R2/12/23 12959.1 ND ND 24 = 0.06
R3/1/6 R3/3/25 12959.1 ND ND 28 + 0.06
R2/4/7 R2/6/11 10800 ND ND 42 += 0.04
R2/717 R2/9/10 10800 ND ND 3.0 + 0.04
EAREREH™
R2/10/6 R2/12/10 10800 ND ND 34 = 0.04
R3/1/12 R3/3/11 10800 ND ND 37 += 0.04
R2/4/7 R2/6/23 10366.8 ND ND 56 = 0.17
R2/7/6 R2/9/24 10366.8 ND ND 29 + 0.13
EFRERET
R2/10/6 R2/12/22 10366.8 ND ND 57 = 0.15
R3/1/7 R3/3/25 10366.8 ND ND 79 = 0.17
j’—% R2/4/3 R2/6/9 39718 ND 0.0071 + 0.0010
X
= R2/7/2 R2/9/23 35620 ND 0.0047 + 0.0010
L EHRWET
t R2/10/16 R2/12/9 24308 ND 0.0048 + 0.0011
A R3/1/4 R3/3/29 27573 ND ND
R2/4/6 R2/6/23 10800 ND ND 2.8 + 0.07
R2/7/6 R2/9/17 10800 ND ND 1.9 + 0.06
MEEMET
R2/10/8 R2/12/15 10800 ND ND 46 =+ 0.08
R3/1/6 R3/3/30 10800 ND ND 41 = 0.07
R2/4/3 R2/6/17 12960 ND ND 33 = 0.07
R2/7/1 R2/9/17 12960 ND ND 1.6 + 0.06
AN
R2/10/6 R2/12/23 12960 ND ND 32 = 012
R3/1/6 R3/3/16 12960 ND ND 3.7 = 0.07
R2/4/1 R2/6/4 10367.7 ND 0.021 £ 0.0018 45 + 0.05
_ _ R2/7/2 R2/9/10 10367.7 ND 0.017 £ 0.0015 14 + 0.05
EERESE™
R2/10/5 R2/12/4 10367.7 ND 0.011 + 0.0013 26 + 0.04
R3/1/5 R3/3/25 10367.7 ND 0.040 £ 0.0021 24 = 0.04




B {7 mBg/m®

= - SRR ER SRR ER e
S SRR ER b Bt wrn |EEREM) cs Bcs ‘Be(B%)
R2/4/1 R2/6/8 10281.3 ND ND 6.7 = 0.06
R2/7/1 R2/9/8 10281.3 ND ND 24 + 0.04
FIMBE OB TH
R2/10/2 R2/12/8 10281.3 ND ND 56 + 0.06
R3/1/5 R3/3/8 10281.3 ND 0.0093 + 0.0020 52 + 0.05
R2/4/6 R2/6/10 15480 ND ND
R2/7/13 R2/9/15 15480 ND ND
HARRFE =™
R2/10/5 R2/12/15 15480 ND ND
R3/1/4 R3/3/10 15480 ND ND
R2/4/6 R2/6/16 11519.2 ND ND 34 + 0.07
. R2/7/1 R2/9/8 11519.2 ND ND 14 + 0.04
HEEAMET
R2/10/5 R2/12/8 11519.2 ND ND 24 + 0.06
R3/1/6 R3/3/11 11519.2 ND ND 20 + 0.07
j,_jl‘ R2/4/5 R2/6/28 12958.4 ND ND 2.7 £ 0.05
X
i R2/7/8 R2/9/25 12958.2 ND ND 0.90 + 0.033
f;; BERMAT
’E R2/10/8 R2/12/21 12962.6 ND ND 26 + 0.05
A R3/1/10 R3/3/22 12959 ND ND 22 + 005
R2/4/2 R2/6/19 10452.2 ND ND 3.4 + 0.06
n R2/7/2 R2/9/18 10395.9 ND ND 0.95 + 0.037
FEEHIRET
R2/10/7 R2/12/18 10417 ND ND 2.8 + 0.05
R3/1/6 R3/3/23 10480 ND ND 2.8 += 0.05
R2/4/6 R2/6/18 12959.1 ND ND 3.1 + 0.06
o - R2/717 R2/9/16 12959.1 ND ND 1.3 + 0.04
REAFEX
R2/10/6 R2/12/17 12959.1 ND ND 2.8 + 0.05
R3/1/6 R3/3/18 12959.1 ND ND 29 + 0.05
R2/4/6 R2/6/30 12095.1 ND ND 1.9 + 0.04
. R2/7/6 R2/9/29 12095 ND ND 0.72 = 0.025
HENBRE 5T
R2/10/5 R2/12/15 12095 ND ND 25 + 0.05
R3/1/4 R3/3/30 12095.4 ND ND 2.8 += 0.04




B {7 mBg/m®

AR ER

ARFHRER

Bk E SRR EU A BAfA B %7 BEREM) B¥4cs Bics Be (%)
R2/4/22 R2/6/4 10965 ND ND 32 + 0.05
. . R2/7/29 R2/9/3 10893 ND ND 1.2 + 0.03
iREHAET
R2/10/20 R2/12/9 11029 ND ND 49 + 0.06
R3/1/26 R3/3/3 11048 ND ND 51 + 0.05
R2/4/7 R2/6/16 18000.9 ND ND
- R2/7/2 R2/9/15 18000 ND ND
= LR gtk
R2/10/6 R2/12/22 18000 ND ND
R3/1/14 R3/3/19 18000 ND ND
R2/4/6 R2/6/26 10448.9 ND ND 28 + 0.06
. R2/7/6 R2/9/24 10420.3 ND ND 1.2 + 0.05
BHEERT
R2/10/5 R2/12/25 10455 ND ND 32 + 007
R3/1/5 R3/3/25 10399 ND ND 35 + 0.07
Zjb R2/4/1 R2/6/25 12959.1 ND ND 40 + 0.05
X
= _ _ R2/7/1 R2/9/16 12959.1 ND ND 20 + 0.04
i 1B RIBH T
JE R2/10/1 R2/12/24 12959.1 ND ND 51 + 0.06
A R3/1/4 R3/3/20 12959.1 ND ND 45 + 0.06
R2/4/6 R2/6/10 10367.1 ND ND 57 + 0.09
R2/7/15 R2/9/29 10367.1 ND ND 1.3 + 0.07
LB E BB FF T
R2/10/5 R2/12/22 10367.1 ND ND 39 + 0.10
R3/1/5 R3/3/16 10367.1 ND ND 50 + 0.08
R2/4/3 R2/6/4 11159.4 ND ND 49 + 0.07
R2/7/20 R2/9/4 11159.4 ND ND 1.8 + 0.04
RERREH
R2/10/2 R2/12/3 11159.4 ND ND 34 + 0.06
R3/1/4 R3/3/11 11159.4 ND ND 27 + 0.6
R2/4/1 R2/6/25 12958.7 ND ND 23 + 005
R2/7/1 R2/9/25 12959.7 ND ND 1.4 + 0.04
I B IR B IR T
R2/10/1 R2/12/22 12959.4 ND ND 39 + 007
R3/1/4 R3/3/19 12959.9 ND ND 6.6 + 0.09




B {7 mBg/m®

P - FURHRER SURHRER =
S SRR ER b Bt wrn |EEREM) cs Bcs ‘Be(B%)
R2/4/2 R2/6/15 10010 ND ND 6.6 + 0.05
R2/7/2 R2/9/14 10028 ND ND 1.4 + 0.02
FRE Rz ET
R2/10/2 R2/12/10 10004 ND ND 55 = 0.05
R3/1/4 R3/3/15 10002 ND ND 6.7 + 0.05
R2/4/6 R2/6/16 10366.8 ND ND 3.8 + 0.05
- R2/7/2 R2/9/15 10366.8 ND ND 1.5 + 0.04
EHMERATES
R2/10/6 R2/12/22 10366.8 ND ND 27 = 0.05
R3/1/5 R3/3/18 10366.8 ND ND 45 + 0.06
R2/4/6 R2/6/17 12958 ND ND
R2/7/20 R2/9/24 12958 ND ND
=ERmATH
R2/10/1 R2/12/22 12958 ND ND
R3/1/4 R3/3/18 12958 ND ND
j,_j“ R2/4/6 R2/6/23 10005 ND ND 49 + 011
X
= . . R2/7/13 R2/9/29 10005 ND ND 1.9 + 0.07
o HERAET
’E R2/10/12 R2/12/22 10000.5 ND ND 71 + 0.13
A R3/1/12 R3/3/23 10005 ND ND 6.3 + 0.11
R2/417 R2/6/10 10459.2 ND ND 39 = 0.07
e R2/7/20 R2/9/9 10358.3 ND ND 16 + 0.05
REBATRERTH
R2/10/5 R2/12/11 10442.7 ND ND 3.1 = 0.06
R3/1/5 R3/3/5 10495.2 ND ND 52 + 0.07
R2/4/6 R2/6/18 11663 ND ND 41 + 0.07
R2/7/2 R2/9/17 11663 ND ND 1.1 + 0.04
NN T
R2/10/5 R2/12/17 11663 ND ND 34 + 0.06
R3/1/5 R3/3/17 11663 ND ND 40 = 0.07
R2/4/6 R2/6/23 10367 ND ND 34 + 0.06
R2/7/8 R2/9/24 10367 ND ND 27 + 0.06
EERMFT
R2/10/5 R2/12/22 10367 ND ND 45 + 0.08
R3/1/4 R3/3/16 10367 ND ND 35 + 0.06




B {7 mBg/m®

AR ER

ARFHRER

Bk E SRR EU A BAfA B %7 BEREM) B¥4cs Bics Be (%)
R2/4/1 R2/6/17 10367 ND ND 27 + 005
R2/7/1 R2/9/17 10367 ND ND 1.1 + 0.05
EEREET
R2/10/1 R2/12/17 10367 ND ND 34 + 0.09
R3/1/5 R3/3/18 10367 ND ND 38 + 0.06
R2/4/3 R2/6/16 10556 ND ND
, R2/7/20 R2/9/29 10503 ND ND
ERE&HAT
R2/10/1 R2/12/21 10552 ND ND
R3/1/4 R3/3/19 10577 ND ND
R2/4/9 R2/6/16 11475.8 ND ND
R2/7/20 R2/9/24 114225 ND ND
LB
R2/10/12 | R2/12/10 11446.5 ND ND
R3/1/14 R3/3/19 11478.4 ND ND
Zjb R2/4/1 R2/6/24 19008 ND ND
X
= - R2/7/1 R2/9/16 19008 ND ND
o BRI ILRET
JE R2/10/5 R2/12/9 19008 ND ND
A R3/1/6 R3/3/17 19008 ND ND
R2/3/31 R2/7/1 66218 ND 0.00060 + 0.00010
R2/7/1 R2/10/1 66264 ND ND
SREWIH
R2/10/1 R2/12/28 63314 ND ND
R2/12/28 R3/3/31 66959.5 ND ND
R2/4/2 R2/6/16 11432 ND ND
R2/7/1 R2/9/15 11316 ND ND
fif] LI 8 R LU
R2/10/1 R2/12/16 11252 ND ND
R3/1/4 R3/3/17 11365 ND ND
R2/4/6 R2/6/23 10072 ND 33 + 0.08
R2/7/8 R2/9/15 10003 ND 1.2 + 0.05
IN=T YN 1]
R2/10/7 R2/12/22 10117 ND 39 + 0.09
R3/1/12 R3/3/23 10143 ND 3.9 + 0.08
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AR ER

ARFHRER

Bk E SRR EU A BAfA B %7 BEREM) B¥4cs Bics Be (%)
R2/4/7 R2/6/24 21911.3 ND ND 44 + 0.06
R2/7/7 R2/9/24 21781.6 ND ND 6.6 + 0.07
WARLAH
R2/10/6 R2/12/23 21856.9 ND ND 21 + 0.04
R3/1/5 R3/3/24 21854.8 ND ND 52 + 0.06
R2/4/6 R2/6/9 10078.7 ND ND
R2/7/2 R2/9/16 10078.8 ND ND
EERES™
R2/10/6 R2/12/16 10078.8 ND ND
R3/1/5 R3/3/10 10078.9 ND ND
R2/4/2 R2/6/16 10142.4 ND ND 31 + 0.09
- R2/7/1 R2/9/16 10073.3 ND ND 1.1 + 0.06
FINRESH™
R2/10/6 R2/12/15 10161.8 ND ND 39 + 0.10
R3/1/5 R3/3/9 10154.6 ND ND 51 + 0.11
Zjb R2/4/6 R2/6/17 11135.5 ND ND 41 + 0.08
X
= R2/7/8 R2/9/25 11106 ND ND 1.3 + 0.06
2| BBR/\MEET
JE R2/10/5 R2/12/22 11114.7 ND ND 53 + 0.09
A R3/1/4 R3/3/16 11137.7 ND ND 50 + 0.08
R2/4/2 R2/6/26 13139.5 ND ND 30 + 0.04
g R2/7/1 R2/9/29 13035.4 ND ND 1.6 + 0.03
SEILISEIn T
R2/10/5 R2/12/25 13124 ND ND 55 + 0.06
R3/1/5 R3/3/16 13045.8 ND ND 43 + 0.05
R2/4/7 R2/6/11 10000 ND ND 39 + 0.04
_ - R2/7/7 R2/9/11 10000 ND ND 42 + 0.04
fafE R KERT
R2/10/20 | R2/12/10 10000 ND ND 75 + 0.05
R3/1/12 R3/3/11 10000 ND ND 6.8 + 0.05
R2/4/14 R2/6/18 10124.7 ND ND 37 + 0.05
R2/7/17 R2/9/28 10124.7 ND ND 21 + 0.04
EEREET
R2/10/23 | R2/12/18 10124.7 ND ND 50 + 0.07
R3/1/25 R3/3/18 10124.7 ND ND 56 + 0.06




B {7 : mBg/m®

s el 1 SEHREN | SREEREX e
S SR ER S Bt wrn |HEEREM) Bics Bcs Be(B%)

R2/4/6 R2/6/9 12959.1 ND ND 51 + 0.07
R2/7/20 R2/9/24 12959.1 ND ND 1.7 = 0.05

RSB XA
R2/10/5 R2/12/8 12959.1 ND ND 6.6 = 0.09
R3/1/4 R3/3/4 12959.1 ND ND 83 + 011
R2/4/6 R2/6/10 12346 ND ND 3.0 £ 0.04
R2/7/1 R2/9/11 14211 ND ND 3.8 + 0.04

N R
R2/10/5 R2/12/4 16429 ND ND 49 + 0.04
R3/1/12 R3/3/9 16336 ND ND 58 + 0.05
R2/417 R2/6/16 10401.3 ND ND 44 + 0.07
R2/7/1 R2/9/15 10434.7 ND ND 1.4 + 0.04

* KABKRAH
= R2/10/1 R2/12/15 10386.9 ND ND 6.8 += 0.08

X

2 R3/1/4 R3/3/16 10391.4 ND ND 58 + 0.08
% R2/4/6 R2/6/23 12959 ND ND 42 + 0.08
R2/7/1 R2/9/26 12959 ND ND 1.9 + 0.06

~ I R S I
R2/10/14 R2/12/10 12959 ND ND 79 += 0.10
R3/1/7 R3/3/4 12959 ND ND 53 + 0.08
R2/4/3 R2/6/4 12960 ND ND 49 + 0.06
R2/7/1 R2/9/11 12960 ND ND 3.0 = 0.05

iR BRI T

R2/10/2 R2/12/4 12960 ND ND 6.0 = 0.07
R3/1/4 R3/3/4 12960 ND ND 53 += 0.06
R2/4/3 R2/6/15 11303.7 ND ND 3.6 + 0.05
- R2/7/6 R2/9/10 10729.6 ND ND 20 += 0.04

HIBES2E™
R2/10/2 R2/12/16 10562.6 ND ND 41 + 0.05
R3/1/15 R3/3/4 10648.7 ND ND 6.2 = 0.06




B {7 : MBg/km?- B

HEA|  EHEREA LM | BN #cs B 'Be(5%)
R2/4/1 R2/5/1 ND ND 65 + 06

R2/5/1 R2/6/1 ND ND 96 + 07

R2/6/1 R2/7/1 ND ND 120 + 0.8

R2/7/1 R2/8/3 ND ND 110 + 07

R2/8/3 R2/9/1 ND ND 110 + 07

s R2/9/1 R2/10/1 ND ND 140 + 08
AR R2/10/1 R2/11/2 ND ND 150 + 0.9

R2/11/2 R2/12/1 ND ND 250 + 1

R2/12/1 R3/1/4 ND ND 110 + 07

R3/1/4 R3/2/1 ND ND 140 + 08

R3/2/1 R3/3/1 ND ND 140 + 0.8

R3/3/1 R3/4/1 ND ND 160 + 0.9

R2/4/1 R2/5/1 ND 0.059 + 0.019 330 + 1

R2/5/1 R2/6/1 ND ND 130 + 09

R2/6/1 R2/7/1 ND ND 130 + 0.9

R2/7/1 R2/8/3 ND ND 250 + 1

7,_% R2/8/3 R2/9/1 ND ND 110 + 0.8
> PR R2/9/1 R2/10/1 ND ND 200 + 1
% WRRERT R2/10/1 R2/11/2 ND ND 290 + 1
4 R2/11/2 R2/12/1 ND ND 350 + 1
R2/12/1 R3/1/4 ND ND 890 + 2

R3/1/4 R3/2/1 ND ND 520 + 2

R3/2/1 R3/3/1 ND ND 470 = 2

R3/3/1 R3/4/1 ND ND 200 + 1

R2/4/1 R2/5/1 ND 0.095 * 0.020 210 + 1

R2/5/1 R2/6/1 ND 031 =+ 0.024 160 + 1

R2/6/1 R2/7/1 ND 010 * 0017 180 + 1

R2/7/1 R2/8/3 ND ND 330 * 2

R2/8/3 R2/9/1 ND ND 100 + 0.9

i R2/9/1 R2/10/1 ND 0.081 * 0.015 87 + 08
AFREMT R2/10/1 R2/11/2 ND ND 150 + 1

R2/11/2 R2/12/1 ND ND 160 + 1

R2/12/1 R3/1/4 ND ND 63 + 0.7

R3/1/4 R3/2/1 ND 0052 * 0.016 150 + 1

R3/2/1 R3/3/1 ND 011 + 0017 230 + 1

R3/3/1 R3/4/1 ND 033 * 0.025 160 + 1




B {7 : MBg/km?- B

HEA|  EHEREA LM | BN #cs B 'Be(5%)
R2/4/2 R2/4/30 ND 045 + 0.024
R2/4/30 R2/6/1 ND 074 + 0.028
R2/6/1 R2/7/1 ND 031 + 0.022
R2/7/1 R2/8/3 ND 011 + 0.022
R2/8/3 R2/9/1 ND 0.11 + 0.017
et 4 L R2/9/1 R2/10/1 ND 0.10 + 0.017
BHRAE R2/10/1 R2/10/30 ND 0.087 + 0.016
R2/10/30 | R2/11/30 ND 0.14 + 0.018
R2/11/30 R3/1/4 ND 0.12 + 0.018
R3/1/4 R3/2/1 ND 063 + 0.027
R3/2/1 R3/3/1 ND 070 + 0.028
R3/3/1 R3/4/1 ND 055 + 0.026
R2/4/1 R2/5/1 ND 0.065 + 0.019 290 + 1
R2/5/1 R2/6/1 ND 0.082 + 0.018 260 + 1
R2/6/1 R2/7/1 ND ND 120 + 0.9
R2/7/1 R2/8/3 ND ND 240 + 1
7,_% R2/8/3 R2/9/1 ND ND 86 + 08
> — R2/9/1 R2/10/1 ND ND 240 + 1
% HERMUET R2/10/1 R2/11/2 ND ND 370 + 2
) R2/11/2 R2/12/1 ND ND 500 + 2
R2/12/1 R3/1/4 ND ND 580 + 2
R3/1/4 R3/2/1 ND ND 450 + 2
R3/2/1 R3/3/1 ND ND 400 + 2
R3/3/1 R3/4/1 ND ND 220 + 1
R2/4/1 R2/5/1 ND 0.17 + 0.020 110 + 0.9
R2/5/1 R2/6/1 ND 053 + 0.027 100 + 0.8
R2/6/1 R2/7/1 ND 029 + 0.024 88 + 0.8
R2/7/1 R2/8/3 ND 0.090 + 0.019 290 + 1
R2/8/3 R2/9/1 ND 0.093 + 0.017 66 + 0.7
- R2/9/1 R2/10/1 ND 0.16 + 0.020 65 + 0.7
Wi H R2/10/1 R2/11/2 ND 0.073 + 0.018 50 + 0.6
R2/11/2 R2/12/1 ND ND 110 + 0.9
R2/12/1 R3/1/4 ND 0.062 + 0.016 290 + 1
R3/1/4 R3/2/1 ND 0.11 + 0.018 150 + 1
R3/2/1 R3/3/1 ND 022 + 0.021 200 + 1
R3/3/1 R3/4/1 ND 023 + 0.022 70 + 0.7

10



B {7 : MBg/km?- B

HEA|  EHEREA LM | BN #cs B 'Be(5%)
R2/4/1 R2/5/1 0.80 + 0.038 14 + 0.1
R2/5/1 R2/6/1 0.66 + 0.032 11 + 0.09
R2/6/1 R2/7/1 021 + 0.022 34 + 0.05
R2/7/1 R2/8/3 022 + 0.022 41 + 0.06
R2/8/3 R2/9/1 0.086 + 0.019 1.2 + 0.03
o s R2/9/1 R2/10/1 0.16 *+ 0.021 35 + 0.05
BERERT R2/10/1 R2/11/2 ND 1.0 + 0.03
R2/11/2 R2/12/1 025 + 0.024 47 + 0.06
R2/12/1 R3/1/4 030 + 0.024 7.4 + 0.08
R3/1/4 R3/2/1 1.0 + 0.04 24 + 0.1
R3/2/1 R3/3/1 21 + 0.05 44 + 0.2
R3/3/1 R3/4/1 20 + 0.05 44 + 02
R2/4/1 R2/5/1 ND 1.4 + 0.04 310 + 1
R2/5/1 R2/6/1 ND 0.76 + 0.030 310 + 1
R2/6/1 R2/7/1 ND 1.1 + 0.04 310 + 1
R2/7/1 R2/8/3 ND 050 + 0.030 280 + 1
7,_% R2/8/3 R2/9/1 ND 056 + 0.030 29 + 04
> A I 7y e e R2/9/1 R2/10/1 ND 0.57 + 0.030 230 + 1
% REROIBENT R2/10/1 R2/11/2 ND 0.32 + 0.030 340 + 1
) R2/11/2 R2/12/1 ND 053 + 0.030 59 + 0.6
R2/12/1 R3/1/4 ND 0.37 + 0.030 52 + 06
R3/1/4 R3/2/1 ND 1.3 + 0.04 92 + 0.7
R3/2/1 R3/3/1 0.16 + 0.030 26 + 0.05 44 + 05
R3/3/1 R3/4/1 ND 0.94 + 0.030 280 + 1
R2/4/1 R2/5/1 ND 0.22 + 0.026
R2/5/1 R2/6/1 ND 1.0 + 0.05
R2/6/1 R2/7/1 ND 0.42 + 0.032
R2/7/1 R2/8/3 ND 0.41 + 0.029
R2/8/3 R2/9/1 ND 011 + 0.024
o R2/9/1 R2/10/1 ND 0.14 + 0.024
BARFHE R2/10/1 R2/11/2 ND ND
R2/11/2 R2/12/1 ND ND
R2/12/1 R3/1/4 ND 0.43 + 0.028
R3/1/4 R3/2/1 ND 0.65 + 0.033
R3/2/1 R3/3/1 0.065 + 0.021 1.3 + 0.04
R3/3/1 R3/4/1 ND 027 + 0.029

11
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HEA|  EHEREA LM | BN #cs B 'Be(5%)
R2/4/1 R2/5/1 ND 073 = 0031 150 = 1
R2/5/1 R2/6/1 0080 + 0025 15 = 005 170 = 1
R2/6/1 R2/7/1 ND 052 * 0027 280 * 1
R2/7/1 R2/8/3 ND 0072 * 0017 150 + 1
R2/8/3 R2/9/1 ND 011 * 0017 56 * 06
N R2/9/1 R2/10/1 ND 019 * 0019 86 * 08
FRRATRT R2/10/1 R2/11/2 ND 014 + 0018 140 + 09
R2/11/2 R2/12/1 ND 016 * 0019 18 = 04
R2/12/1 R3/1/4 ND 050 * 0.026 45 * 022
R3/1/4 R3/2/1 ND 061 * 0028 20 + 04
R3/2/1 R3/3/1 ND 090 * 0034 23 + 04
R3/3/1 R3/4/1 ND 18 = 005 82 + 09
R2/4/1 R2/5/1 ND 022 * 0028 320 * 2
R2/5/1 R2/6/1 ND 012 * 0023 170 = 1
R2/6/1 R2/7/1 ND 0090 * 0.022 310 * 2
R2/7/1 R2/8/3 ND ND 260 + 2
7,_% R2/8/3 R2/9/1 ND 0060 * 0019 16 * 05
X . R2/9/1 R2/10/1 ND 0080 * 0.020 160 = 1
% HERTRAT R2/10/1 R2/11/2 ND 0088 * 0.021 180 + 1
" R2/11/2 R2/12/1 ND 012 * 0023 14 = 05
R2/12/1 R3/1/4 ND 019 * 0027 50 * 033
R3/1/4 R3/2/1 ND 013 + 0024 26 + 08
R3/2/1 R3/3/1 ND 018 * 0.026 27 % 06
R3/3/1 R3/4/1 ND 024 + 0028 190 = 2
R2/4/1 R2/5/1 ND 035 * 0021 350 * 1
R2/5/1 R2/6/1 ND 023 * 0019 120 = 07
R2/6/1 R2/7/1 ND 038 = 0022 180 + 009
R2/7/1 R2/8/3 ND 023 = 0019 270 = 1
R2/8/3 R2/9/1 ND 020 * 0017 36 + 04
. R2/9/1 R2/10/1 ND 015 = 0016 190 = 0.9
TREMRS R2/10/1 R2/11/2 ND 0086 * 0.016 190 + 0.9
R2/11/2 R2/12/1 ND 023 * 0018 26 + 03
R2/12/1 R3/1/4 ND 018 = 0017 27 % 03
R3/1/4 R3/2/1 ND 070 = 0.029 78 = 06
R3/2/1 R3/3/1 ND 037 * 0020 48 * 05
R3/3/1 R3/4/1 ND 023 + 0019 220 + 1
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B {7 : MBg/km?- B

HEA|  EHEREA LM | BN #cs B 'Be(5%)
R2/4/1 R2/5/1 0044 + 00090 | 049 + 0022 390 + 2

R2/5/1 R2/6/1 0060 * 0.010 093 * 0.029 170 + 1

R2/6/1 R2/7/1 ND 035 * 0019 310 + 1

R2/7/1 R2/8/3 ND 017 = 0014 300 + 1

R2/8/3 R2/9/1 ND 019 * 0014 55 + 05

N R2/9/1 R2/10/1 ND 038 * 0.020 180 + 1

RR AR R2/10/1 R2/11/2 ND 022 + 0015 260 + 1

R2/11/2 R2/12/1 ND 029 * 0018 26 + 04

R2/12/1 R3/1/4 ND 034 * 0019 19 = 03

R3/1/4 R3/2/1 ND 063 * 0025 75 + 07

R3/2/1 R3/3/1 ND 036 * 0019 32 * 04

R3/3/1 R3/4/1 ND 040 * 0.020 200 = 2

R2/4/1 R2/5/1 ND 019 * 0016 210 + 1

R2/5/1 R2/6/1 ND 022 * 0015 120 + 07

R2/6/1 R2/7/1 ND 0098 * 0011 130 = 08

R2/7/1 R2/8/3 ND 014 * 0012 270 + 1

7,_% R2/8/3 R2/9/1 ND 014 * 0013 17 = 03
> [ R2/9/1 R2/10/1 ND 0.12 + 0.012 150 + 0.8
% HRINRF T R2/10/1 R2/11/2 ND 0071 * 0010 120 = 07
w R2/11/2 R2/12/1 ND 013 * 0015 16 + 03
R2/12/1 R3/1/4 ND 017 * 0014 18 = 03

R3/1/4 R3/2/1 ND 051 + 0.022 33 + 04

R3/2/1 R3/3/1 ND 042 * 0019 47 * 05

R3/3/1 R3/4/1 ND 011 * 0011 270 + 1

R2/4/1 R2/5/1 ND 0049 * 0.010 240 * 1

R2/5/1 R2/6/1 ND ND 160 + 09

R2/6/1 R2/7/1 ND ND 110 + 07

R2/7/1 R2/8/3 ND ND 230 + 1

R2/8/3 R2/9/1 ND ND 70 * 06

e R2/9/1 R2/10/1 ND ND 140 + 08

iR AR R2/10/1 R2/11/2 ND ND 200 + 1

R2/11/2 R2/12/1 ND ND 280 + 1

R2/12/1 R3/1/4 ND ND 610 * 2

R3/1/4 R3/2/1 ND ND 360 + 1

R3/2/1 R3/3/1 ND ND 210 + 1

R3/3/1 R3/4/1 ND 0060 * 0013 110 + 08




B {7 : MBg/km?- B

HEA|  EHEREA LM | BN #cs B 'Be(5%)
R2/4/1 R2/5/1 ND 0.047 = 0.012
R2/5/1 R2/6/1 ND ND
R2/6/1 R2/7/1 ND ND
R2/7/1 R2/8/3 ND ND
R2/8/3 R2/9/1 ND ND
U R2/9/1 R2/10/1 ND ND
= LLIRADKT R2/10/1 R2/11/2 ND ND
R2/11/2 R2/12/1 ND ND
R2/12/1 R3/1/4 ND ND
R3/1/4 R3/2/1 ND ND
R3/2/1 R3/3/1 ND ND
R3/3/1 R3/4/1 ND ND
R2/3/30 R2/4/30 ND 0.056 + 0.012 710 + 2
R2/4/30 R2/5/29 ND ND 160 + 0.9
R2/5/29 R2/6/30 ND ND 260 + 1
R2/6/30 R2/7/31 ND ND 410 + 1
7,_% R2/7/31 R2/8/31 ND ND 87 + 0.7
> g R2/8/31 R2/9/30 ND ND 270 + 1
% BINRERE R2/9/30 R2/10/30 ND ND 400 + 1
" R2/10/30 | R2/11/30 ND ND 760 + 2
R2/11/30 | R2/12/28 ND ND 1200 + 3
R2/12/28 R3/1/29 ND ND 1400 + 3
R3/1/29 R3/2/26 ND ND 850 + 2
R3/2/26 R3/3/30 ND ND 230 + 1
R2/4/1 R2/5/2 ND ND 320 + 2
R2/5/2 R2/6/1 ND ND 170 + 1
R2/6/1 R2/7/1 ND ND 210 + 1
R2/7/1 R2/8/3 ND ND 290 + 1
R2/8/3 R2/9/1 ND ND 57 + 0.6
A R2/9/1 R2/10/1 ND ND 210 + 1
testRiEFH R2/10/1 R2/11/2 ND ND 200 + 1
R2/11/2 R2/12/1 ND ND 240 + 1
R2/12/1 R3/1/4 ND ND 1300 + 3
R3/1/4 R3/2/1 ND ND 730 + 2
R3/2/1 R3/3/1 ND ND 630 + 2
R3/3/1 R3/4/1 ND ND 240 + 1
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B {7 : MBg/km?- B

HEA|  EHEREA LM | BN #cs B 'Be(5%)
R2/4/1 R2/5/1 ND ND 88 + 05
R2/5/1 R2/6/1 ND ND 96 + 07
R2/6/1 R2/7/1 ND ND 250 + 06
R2/7/1 R2/8/3 ND ND 340 + 1
R2/8/3 R2/9/1 ND ND 66 + 03
, R2/9/1 R2/10/1 ND ND 95 + 03
SRR T R2/10/1 R2/11/2 ND ND 120 = 05
R2/11/2 R2/12/1 ND ND 80 + 017
R2/12/1 R3/1/4 ND ND 61 + 027
R3/1/4 R3/2/1 ND ND 31 + 02
R3/2/1 R3/3/1 ND ND 13 + 03
R3/3/1 R3/4/1 ND ND 100 + 0.4
R2/4/1 R2/5/1 ND 0.061 + 0016 71 + 06
R2/5/1 R2/6/1 ND ND 110 + 08
R2/6/1 R2/7/1 ND ND 98 + 07
R2/7/1 R2/813 ND ND 130 + 08
7,_% R2/8/3 R2/9/1 ND ND 43 + 05
> S R2/9/1 R2/10/1 ND ND 85 + 0.7
% REREHT R2/10/1 R2/1112 ND ND 60 + 06
) R2/11/2 R2/12/1 ND ND 26 + 0.4
R2/12/1 R3/1/4 ND ND 81 + 06
R3/1/4 R3/2/1 ND ND 60 + 06
R3/2/1 R3/3/1 ND 0.056 + 0.014 100 + 07
R3/3/1 R3/3/31 ND ND 44 + 05
R2/4/1 R2/5/1 ND ND
R2/5/1 R2/6/1 ND ND
R2/6/1 R2/7/1 ND ND
R2/7/1 R2/8/3 ND ND
R2/8/3 R2/9/1 ND ND
o s R2/9/1 R2/10/1 ND ND
i B REBRT R2/10/1 R2/11/2 ND ND
R2/11/2 R2/12/1 ND ND
R2/12/1 R3/1/4 ND ND
R3/1/4 R3/2/1 ND ND
R3/2/1 R3/3/1 ND ND
R3/3/1 R3/4/1 ND ND
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B {7 : MBg/km?- B

HEA|  EHEREA LM | BN #cs B 'Be(5%)
R2/4/1 R2/5/1 ND ND 310 =+ 1
R2/5/1 R2/6/1 ND ND 140 _+ 08
R2/6/1 R2/7/1 ND ND 270 _+ 1
R2/7/1 R2/8/3 ND ND 410 =+ 2
R2/8/3 R2/9/1 ND ND 52 + 05
r R2/9/1 R2/10/1 ND ND 140 _+ 08
BERRZ A R2/10/1_| R2/1172 ND ND 83_* 06
R2/11/2 | R2/2/1 ND ND 64+ 06
R2/12/1 R3/1/4 ND ND 25+ 04
R3/1/4 R3/2/1 ND ND 87 =+ 07
R3/2/1 R3/3/1 ND ND 87 * 07
R3/3/1 R3/4/1 ND ND 460 * 2
R2/4/1 R2/5/1 ND ND 130 _*+ 0.9
R2/5/1 R2/6/1 ND ND 180 _*+ 0.9
R2/6/1 R2/7/1 ND ND 110 _+ 08
R2/7/1 R2/8/3 ND ND 200 * 1
7,_% R2/8/3 R2/9/1 ND ND 25 _+ 04
o =k R2/9/1 R2/10/1 ND ND 100 + 0.7
% ERREHET R2/10/1_| R2/11/2 ND ND 82 * 06
% R2/112_| R2/2/1 ND ND 34_+ 04
R2/12/1 R3/1/4 ND ND 27 _+ 04
R3/1/4 R3/2/1 ND ND 41_* 05
R3/2/1 R3/3/1 ND ND 20 * 03
R3/3/1 R3/4/1 ND ND 210 =+ 1
R2/4/1 R2/5/1 ND ND
R2/5/1 R2/6/1 ND ND
R2/6/1 R2/7/1 ND ND
R2/7/1 R2/8/3 ND ND
R2/8/3 R2/9/1 ND ND
e R2/9/1 R2/10/1 ND ND
=RREAmH R2/10/1_ | R2/11/2 ND ND
R2/112_| R2M2/1 ND ND
R2/12/1 R3/1/4 ND ND
R3/1/4 R3/2/1 ND ND
R3/2/1 R3/3/1 ND ND
R3/3/1 R3/4/1 ND ND
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B {7 : MBg/km?- B

HEA|  EHEREA LM | BN #cs B 'Be(5%)
R2/4/1 R2/5/1 ND ND 180 + 1

R2/5/1 R2/6/1 ND ND 180 + 1

R2/6/1 R2/7/1 ND ND 170 + 1

R2/7/1 R2/8/3 ND ND 280 + 1

R2/8/3 R2/9/1 ND ND 52 * 06

e R2/9/1 R2/10/1 ND ND 110 + 09
BRRKRD R2/10/1 R2/11/2 ND ND 150 + 1

R2/11/2 R2/12/1 ND ND 59 + 06

R2/12/1 R3/1/4 ND ND 56 *+ 06

R3/1/4 R3/2/1 ND ND 78 + 07

R3/2/1 R3/3/1 ND ND 93 * 08

R3/3/1 R3/4/1 ND ND 180 + 1

R2/4/1 R2/5/1 ND ND 160 = 0.9

R2/5/1 R2/6/1 ND ND 120 + 08

R2/6/1 R2/7/1 ND ND 130 = 08

R2/7/1 R2/7/31 ND ND 260 + 1

7,_% R2/7/31 R2/9/1 ND ND 75 * 06
- - - R2/9/1 R2/10/1 ND ND 120 + 0.8
Eﬁ AR AT R2/10/1 R2/11/2 ND ND 98 + 0.7
w R2/11/2 R2/12/1 ND ND 58 + 05
R2/12/1 R3/1/4 ND ND 45 * 05

R3/1/4 R3/2/1 ND ND 70 + 06

R3/2/1 R3/3/1 ND ND 78 * 06

R3/3/1 R3/4/1 ND ND 150 + 09

R2/3/31 R2/4/30 ND ND 170 + 1

R2/4/30 R2/6/1 ND ND 130 + 08

R2/6/1 R2/7/1 ND ND 87 + 07

R2/7/1 R2/8/3 ND ND 220 + 1

R2/8/3 R2/9/1 ND ND 58 + 05

R2/9/1 R2/10/1 ND ND 42 * 05

AR R2/10/1 R2/11/2 ND ND 48 * 05

R2/11/2 R2/12/1 ND ND 77 + 06

R2/12/1 R3/1/4 ND ND 33 + 04

R3/1/4 R3/2/1 ND ND 69 + 06

R3/2/1 R3/3/1 ND ND 51 + 05

R3/3/1 R3/3/31 ND ND 150 + 009
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B {7 : MBg/km?- B

HEA|  EHEREA LM | BN #cs B 'Be(5%)
R2/4/1 R2/5/1 ND ND 100 + 07
R2/5/1 R2/6/1 ND ND 100 + 07
R2/6/1 R2/7/1 ND ND 67 + 06
R2/7/1 R2/8/3 ND ND 160 + 0.9
R2/8/3 R2/9/1 ND ND 29 * 014
. R2/9/1 R2/10/1 ND ND 44 _* 05
SRR R2/10/L | R2/1112 ND ND 65 + 0.6
R2/112 | Re/2/l ND ND 14 + 03
R2/12/1 R3/1/4 ND ND 22 + 03
R3/1/4 R3/2/1 ND ND 40 = 04
R3/2/1 R3/3/1 ND ND 19 + 03
R3/3/1 R3/4/1 ND ND 94 * 0.7
R2/4/1 R2/5/1 ND ND
R2/5/1 R2/6/1 ND ND
R2/6/1 R2/7/1 ND ND
R2/7/1 R2/8/3 ND ND
7,_% R2/8/3 R2/9/1 ND ND
> s 1 R2/9/1 R2/10/1 ND ND
% R R2/10/L | R2/1112 ND ND
" R2/112 | Re/2/l ND ND
R2/12/1 R3/1/4 ND ND
R3/1/4 R3/2/1 ND ND
R3/2/1 R3/3/1 ND ND
R3/3/1 R3/4/1 ND ND
R2/4/1 R2/5/1 ND ND
R2/5/1 R2/6/1 ND ND
R2/6/1 R2/7/1 ND ND
R2/7/1 R2/8/3 ND ND
R2/8/3 R2/9/1 ND ND
o R2/9/1 R2/10/1 ND ND
AR LR AR R2/10/L | R2/1112 ND ND
R2/112 | Re/2/1 ND ND
R2/12/1 R3/1/4 ND ND
R3/1/4 R3/2/1 ND ND
R3/2/1 R3/3/1 ND ND
R3/3/1 R3/4/1 ND ND
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B {7 : MBg/km?- B

HEA|  EHEREA LM | BN #cs B 'Be(5%)
R2/4/1 R2/5/1 ND ND
R2/5/1 R2/6/1 ND ND
R2/6/1 R2/7/1 ND ND
R2/7/1 R2/8/3 ND ND
R2/8/3 R2/9/1 ND ND
. R2/9/1 R2/10/1 ND ND
IR A AT R2/10/L | R2/112 ND ND
R2/112 | R2/12/1 ND ND
R2/12/1 R3/1/6 ND ND
R3/1/6 R3/2/1 ND ND
R3/2/1 R3/3/1 ND ND
R3/3/1 R3/4/1 ND ND
R2/3/31 R2/5/1 ND ND
R2/5/1 R2/6/1 ND ND
R2/6/1 R2/7/1 ND ND
R2/7/1 R2/8/3 ND ND
7,_§k R2/8/3 R2/9/3 ND ND
> B s R2/9/3 R2/10/1 ND ND
% BRRLILH R2/10/L | R2/11/2 ND ND
" R2/112 | R2/11/30 ND ND
R2/11/30 | R2/12/28 ND ND
R2/1228 | R3/2/1 ND ND
R3/2/1 R3/3/1 ND ND
R3/3/1 R3/3/31 ND ND
R2/4/1 R2/5/1 ND ND 9% * 07
R2/5/1 R2/6/1 ND ND 100 + 07
R2/6/1 R2/7/1 ND ND 78 * 0.6
R2/7/1 R2/8/3 ND ND 170 + 0.8
R2/8/3 R2/9/1 ND ND 22 * 013
I R2/9/1 R2/10/1 ND ND 43 + 04
FElLLI SR LT R2/10/L | R2/11/2 ND ND 130 + 0.9
R2/112 | R2/12/1 ND ND 28 + 04
R2/12/1 R3/1/4 ND ND 40 = 05
R3/1/4 R3/2/1 ND ND 57 + 06
R3/2/1 R3/3/1 ND ND 27 * 04
R3/3/1 R3/4/1 ND ND 90 =+ 07
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B {7 : MBg/km?- B

HEA|  EHEREA LM | BN #cs B 'Be(5%)
R2/4/1 R2/5/1 ND ND 160 = 1
R2/5/1 R2/6/1 ND ND 130 + 0.9
R2/6/1 R2/7/1 ND ND 140 = 1
R2/7/1 R2/8/3 ND ND 360 + 2
R2/8/3 R2/9/1 ND ND 46 * 0.24
" R2/9/1 R2/10/1 ND ND 69 * 0.7
E&RERT R2/10/1 R2/11/2 ND ND 63 + 0.7
R2/11/2 R2/12/1 ND ND 46 + 05
R2/12/1 R3/1/4 ND ND 32 + 05
R3/1/4 R3/2/1 ND ND 95 + 0.8
R3/2/1 R3/3/1 ND ND 65 = 0.6
R3/3/1 R3/4/1 ND ND 210 + 1
R2/4/1 R2/5/1 ND ND 210 + 1
R2/5/1 R2/6/1 ND ND 280 * 1
R2/6/1 R2/7/1 ND ND 170 =+ 1
R2/7/1 R2/8/1 ND ND 390 + 2
jEi R2/8/1 R2/9/1 ND ND 66 + 0.7
> a R2/9/1 R2/10/1 ND ND 230 + 1
% waRlins R2/10/1 R2/11/1 ND ND 55 + 0.6
L) R2/11/1 R2/12/1 ND ND 52 * 0.6
R2/12/1 R3/1/4 ND ND 130 =+ 0.9
R3/1/4 R3/2/1 ND ND 210 + 1
R3/2/1 R3/3/1 ND ND 180 = 1
R3/3/1 R3/4/1 ND ND 320 + 1
R2/4/1 R2/5/1 ND ND
R2/5/1 R2/6/1 ND ND
R2/6/1 R2/7/1 ND ND
R2/7/1 R2/8/3 ND ND
R2/8/3 R2/9/1 ND ND
p =F R2/9/1 R2/10/1 ND ND
RERBET R2/10/1 R2/11/2 ND ND
R2/11/2 R2/12/1 ND ND
R2/12/1 R3/1/4 ND ND
R3/1/4 R3/2/1 ND ND
R3/2/1 R3/3/1 ND ND
R3/3/1 R3/4/1 ND ND
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HEA|  EHEREA LM | BN #cs B 'Be(5%)
R2/4/1 R2/5/1 ND ND 84 + 11
R2/5/1 R2/6/1 ND ND 76 + 1.0
R2/6/1 R2/7/1 ND ND 45 + 0.8
R2/7/1 R2/8/3 ND ND 120 + 1
R2/8/3 R2/9/1 ND ND 58 + 033
— R2/9/1 R2/10/1 ND ND 59 + 09
FIREME R2/10/1 R2/11/2 ND ND 94 + 1.1
R2/11/2 R2/12/1 ND ND 29 + 06
R2/12/1 R3/1/4 ND ND 16 + 05
R3/1/4 R3/2/1 ND ND 62 + 09
R3/2/1 R3/3/1 ND ND 43 + 08
R3/3/1 R3/4/1 ND ND 68 + 09
R2/3/30 R2/5/1 ND ND
R2/5/1 R2/6/1 ND ND
R2/6/1 R2/7/1 ND ND
R2/7/1 R2/7/31 ND ND
7,_% R2/7/31 R2/9/1 ND ND
o £ 8 40 R2/9/1 R2/9/28 ND ND
Eif RIERMLE R2/9/28 R2/11/2 ND ND
w R2/11/2 R2/12/1 ND ND
R2/12/1 | R2/12/28 ND ND
R2/12/28 R3/2/1 ND ND
R3/2/1 R3/3/1 ND ND
R3/3/1 R3/3/30 ND ND
R2/4/1 R2/5/1 ND ND 140 + 09
R2/5/1 R2/6/1 ND ND 340 + 1
R2/6/1 R2/7/1 ND ND 190 + 1
R2/7/1 R2/7/31 ND ND 500 + 2
R2/7/31 R2/9/1 ND ND 81 + 0.7
e R2/9/1 R2/10/1 ND ND 230 + 1
BAREAT R2/10/1 R2/11/2 ND ND 600 + 2
R2/11/2 R2/12/1 ND ND 93 + 07
R2/12/1 R3/1/4 ND ND 34 + 04
R3/1/4 R3/2/1 ND ND 120 + 08
R3/2/1 R3/3/1 ND ND 55 + 05
R3/3/1 R3/4/1 ND ND 280 = 2
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HEA|  EHEREA LM | BN #cs B 'Be(5%)
R2/4/1 R2/5/1 ND ND
R2/5/1 R2/6/1 ND ND
R2/6/1 R2/7/1 ND ND
R2/7/1 R2/8/3 ND ND
R2/8/3 R2/9/1 ND ND
o R2/9/1 R2/10/1 ND ND
RN AR R2/10/1 | R2/11/2 ND ND
R2/11/2 | R2/12/1 ND ND
R2/12/1 R3/1/4 ND ND
R3/1/4 R3/2/1 ND ND
R3/2/1 R3/3/1 ND ND
R3/3/1 R3/4/1 ND ND
R2/4/1 R2/5/1 ND ND 140 * 08
R2/5/1 R2/6/1 ND ND 230 + 1
R2/6/1 R2/7/1 ND ND 260 + 1
R2/7/1 R2/8/3 ND ND 440 + 2
7,_% R2/8/3 R2/9/1 ND ND 30 + 04
> e J R2/9/1 R2/10/1 ND ND 150 + 0.8
% ERRERT R2/10/L | R2/1L2 ND ND 72+ 06
% R2/11/2 | R2/12/1 ND ND 51 + 05
R2/12/1 R3/1/4 ND ND 110 + 07
R3/1/4 R3/2/1 ND ND 95 + 06
R3/2/1 R3/3/1 ND ND 130 + 08
R3/3/1 R3/4/1 ND ND 210 + 0.9
R2/4/1 R2/5/1 ND ND 91 + 07
R2/5/1 R2/6/1 ND ND 190 + 1
R2/6/1 R2/7/1 ND ND 210 + 1
R2/7/1 R2/8/3 ND ND 350 + 1
R2/8/3 R2/9/1 ND ND 90 + 07
. R2/9/1 R2/10/1 ND ND 130 + 1
RIGRAHT R2/10/L | R2/11/2 ND ND 44+ 05
R2/11/2 | R2/12/1 ND ND 40 + 05
R2/12/1 R3/1/4 ND ND 87 + 08
R3/1/4 R3/2/1 ND ND 87 + 07
R3/2/1 R3/3/1 ND ND 130 + 1
R3/3/1 R3/4/1 ND ND 200 + 1
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HEA|  EHEREA LM | BN #cs B 'Be(5%)
R2/4/1 R2/5/1 ND ND 29 = 05

R2/5/1 R2/6/1 ND ND 140 + 08

R2/6/1 R2/7/1 ND ND 220 + 1

R2/7/1 R2/8/3 ND ND 350 * 2

R2/8/3 R2/9/1 ND ND 27 + 04

S R2/9/1 R2/10/1 ND ND 130 + 08
RARFLE R2/10/1 R2/11/2 ND ND 110 + 0.7

R2/11/2 R2/12/1 ND ND 66 + 06

R2/12/1 R3/1/4 ND ND 54 + 05

R3/1/4 R3/2/1 ND ND 72 + 06

R3/2/1 R3/3/1 ND ND 73 + 06

R3/3/1 R3/4/1 ND ND 130 + 08

R2/4/1 R2/5/1 ND ND 91 + 0.7

R2/5/1 R2/6/1 ND ND 180 + 1

R2/6/1 R2/7/1 ND ND 190 + 1

R2/7/1 R2/8/3 ND ND 350 * 1

7,_% R2/8/3 R2/9/1 ND ND 54 + 05
> N s R2/9/1 R2/10/1 ND ND 230 + 1
% RARKAT R2/10/1 R2/11/2 ND ND 200 + 1
% R2/11/2 R2/12/1 ND ND 43 * 05
R2/12/1 R3/1/4 ND ND 48 + 05

R3/1/4 R3/2/1 ND ND 81 + 0.7

R3/2/1 R3/3/1 ND ND 240 + 1

R2/4/1 R2/5/1 ND ND 67 + 06

R2/5/1 R2/6/1 ND ND 200 * 1

R2/6/1 R2/7/1 ND ND 200 * 1

R2/7/1 R2/8/3 ND ND 240 * 1

R2/8/3 R2/9/1 ND ND 66 + 07

o R2/9/1 R2/10/1 ND ND 200 * 1
ERREET R2/10/1 R2/11/2 ND ND 150 + 0.9

R2/11/2 R2/12/1 ND ND 95 + 0.7

R2/12/1 R3/1/4 ND ND 30 + 05

R3/1/4 R3/2/1 ND ND 69 + 06

R3/2/1 R3/3/1 ND ND 380 = 2

R3/3/1 R3/4/1 ND ND 240 * 1
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SRR

SRR

EER SR SRR AR R BS54 B ©T R 1¥cs 1¥cs '‘Be(3%)
R2/3/31 | R2/4/30 ND ND 140 * 1

R2/4130 | R2/5/29 ND ND 270 = 2

R2/5/29 | R2/6/30 ND ND 370 + 2

R2/6/30 | R2/7/31 ND ND 400 + 2

R2/7/31 | R2/8/31 ND ND 86+ 0.9

R R2/8/31 | R2/9/30 ND ND 100 + 1

B SRR R2/9/30 | R2/10/30 ND ND 82 + 08
R2/10/30 | R2/11/30 ND ND 100 + 0.9

R2/11/30 | R2/12/25 ND ND 32 + 05

R2/12/25 | R3/1/29 ND ND 230 * 1

A R3/1/29 | R3/2/26 ND ND 250 + 1
E‘; R3/2/26 R3/3/31 ND ND 250 + 1
= R2/4/1 R2/5/1 ND ND 130 + 08
w R2/5/1 R2/6/1 ND ND 170 + 1
R2/6/1 R2/7/1 ND ND 80 + 07

R2/7/1 R2/8/3 ND ND 38 * 04

R2/8/3 R2/9/3 ND ND 110 + 08

g R2/9/3 R2/10/1 ND ND 63 * 06
HRRISEM R2/10/L | R2/1172 ND ND 24+ 04

R2/112 | R2/12/1 ND ND 23 * 0.3

R2/12/1 R3/1/4 ND ND 120 + 08

R3/1/4 R3/2/1 ND ND 8L * 06

R3/2/1 R3/3/1 ND ND 69 + 06

R3/3/1 R3/4/1 ND ND 9% * 07
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